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Note:

(i) Each question carries 20 marks

(i) Question | js compulsory
| (it} Attempt any three (3) from the remaining questions
| (iv) Assume suitable duta wherever required
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Altempt any four (4) questions from the following [20]
Give PEAS description for g Personal Assistant in Smiartphone.

Characterize its enviran ment.

Give the initial state, goal test, successor function, and cost function for an “N

Queens prablen™

Draw and explain architecture of Uitility Based Agent,

Define Turing test and explain its significance in Al

What are universa) and existential quantifiers? ustrae it usage in predicate

logic with a suitable example

Explain termination eanditions in« decision tree learning algorithm w ith an [6+2+2]
example for each condition, What are decision rules? How o use jt for

classifving new sdmples?

Consider the lallowing sentences: [ 1)
Anyone passing his history exams and winning o lottery is happy. But anynne

who studies of jg lueky can pass all his exams. John did not study but he js

lueky. Anyonewhe i lucky wins the lottery,

Answer “Is John happy?” using pProof by resoluticn

Design a suitable Planning agent for cleaning the kitchen, Give any 2 STRIpS [10]
style operators lyag might be tused. When dc-signing the operators take into
dccount considerations such 45 --= Cleaning the stoye or refrigerator will get

the floor dirty,

Explain the Bavesian Belief Networks (BBN) with a suitable example, What [10]

types of inferences can be drawn from such networks?

Define heuristjcs, Give a suitable heuristic function to solve a tie-tae-toe [6]
problem in Al Nustrate its application to any state of° a tic-tac-tpe problem

Write a pseudo code for alpha-hetg algorithm. Consider 4 section of min-max

tree shown in Figure 1. g there any Beta 'y Off possible? IFpossible, Where [4+244)
and Why?
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(¢)  What are the frustrations that occur in hill elimbing algorithm?

Q5 (4) Explain how Genetic algorithms work with a suitable example? Define the
terms chromosome. fitness function. erossover and mutation [or the same
example,

{b) Cansider the graph given in Iigure 2 below. Assume that the initial state is S
and the goal stute is G. SHow how A¥ Search would create 4 search tree to
find a path fron the indtial state 1o the goal state
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Figure 2
Assuming the straighi=line distance as the heuristies function: htSYy=4. hiA =2
hBi=6, Cr=2, k(D=3 and hiG)=0).

(6 Answer any two (2) ofthe fdllowing

() How would vou differentiate betwear EXpért System and just an Al program?
Draw and illustrate expert systems architecture, Use an example to support
vior clams,

(b} What are steps invalved in natural language processing (NLP) of an English
sertence”? Expluin with an example sentence. Brielly explain any one
application of NLP

{¢)  Write n short note on simulated annealing,
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